
Capacity of I-beam as a cantilever 
 
In considering the capacity of a cantilever I-beam in bending, I looked at the following standards: AS 4100, BS 5950-1:2000 & SCI 
publication P360. 
 
Could anyone shed light on the following questions. Assume case of a cantilever segment extending 
past another beam, with partial torsional restraint. Diagrams are shown in attachment. 
 
 
Q1: 
Comparing AS 4100 to BS 5950-1:2000 and SCI publication P360, the effective length inferred 
from AS 4100 is close to a value of 2.0L, whereas in BS it’s 5.0L and in P360 it’s also 5.0L (2.0 x 
2.5). Have I missed something here? 
 
Q2: 
On the assumption that BS and P360 (which is supposed to be derived from BS) are the 
authority, I can’t seem to get the same capacity when I crunch the numbers (for 310UC118 
with an overhang of 5m) ... maybe an error with calculating slenderness. 
Please refer to separate Excel workbook. 
This may be of help: 
https://www.steelconstruction.info/images/9/99/AD-408.pdf 
 
 
EXTRACT: AS 4100 
 

 
 
 
 
 

 
EXTRACT: BS 5950-1:2000 & SCI publication P360 
 

 
 
 
 
 
 
 

 
 
 
 
 
 
 
 


